F2H THRAAEHER (ER23FE10AMNLERK24%E38) DEE
H#FERIZDONT

LAIES 4 FEE
Frk23E10A 128
AIEH R4 thE DR K P AR (70777 M)
1.0m 0.5m
LAIESHHRET (R R) T i 0.12 0.12
LaEog#E2 (F) T i 0.18 0.20
LA 4H#ES (FE) T i 0.15 0.17
LaEog#E4 () T i 0.12 0.11
LAIES4HES (LR) T i 0.20 0.22
Fi 0.15 0.16
FR23%F 11108
AIEH R4 thE DR K& AR (7777 M)
1.0m 0.5m
LAIEo4H#ET (pR) T = 0.20 0.24
LalEos##E2 () T £ 0.19 0.20
LAIEo4#ES (FE) T = 0.16 0.17
LalEosH#E 4 (dL) T 8 0.14 0.14
LAIES4#ES (LR) * = 0.20 0.22
Fi 0.18 0.19
Frk235E12A19R
B E #h = 44 HEDRZIR PN 73 AR (73777 M)
1.0m 0.5m
LAIEHHET (R R) * i 0.12 0.12
LaEos##E2 (F) T i 0.17 0.19
LAEo4#ES (FfE) * i 0.15 0.17
LaIEos##E4 (dL) T i 0.12 0.11
LAIEo4#ES (LR) * i 0.19 0.19
Fi5 0.15 0.16




FR24%1 /8198

HIE i (v198—A" Ik /BE)

AITEH R B thE DR K PR

1.0m 0.5m

LAIESHHRET (R R) T i 0.12 0.12
LaEoy#E2 (F) T i1 0.18 0.20
LAIEo4HES (FE) T i 0.15 0.17
LaEog#E4 (k) T i 0.13 0.12
LAIES4HES (LR) T i 0.19 0.20
i 0.15 0.16

FR24%2A248

AIEH R4 thE DR K& AR (70777 M)

1.0m 0.5m

LAIEDHHET (R R) * £ 0.11 0.12
LaEsy#E2 (m) T £ 0.18 0.19
LA 4 H#ES (FE) T = 0.15 0.16
LaEoy#E4 (3k) T g 0.13 0.12
LAIES4HES (LR) T = 0.19 0.18
Fi 0.15 0.15

Tri24%3H228

BIEM R B HhE DR PSS AIEAR (A9~ W)

1.0m 0.5m
LAIEHHET (R R) T i1 0.11 0.11
LalEos#E2 (F) T i 0.18 0.19
LAEo4#ES (FEfE) * i 0.15 0.17
LaIEos##E 4 (dL) T i 0.12 0.12
LAIEo4#ES (LR) * i 0.17 0.18
T 0.15 0.15




